LR L/MBRA /ZIMORCHI

GANCI TRAINO E RIMORCHI

www.umbrarimorchi.it

umbrarimorchi@umbrarimorchi.it

Tel. +39 075.5280260
Fax +39 075.5287033
Via Pizzoni 37/39
06132 Perugia

ITALY

ISTRUZIONI DI MONTAGGIO

FITTING INSTRUCTIONS

INSTRUCTIONS DE MONTAGE

MONTAGEANLEITUNG

INSTRUCCIONES DE MONTAJE

DISPOSITIVO DI TRAINO
TIPO

TOWING BRACKET TYPE
DISPOTIF DE REMORQUAGE TYPE
ANHAENGEVORRICHTUNG TYP
DISPOSITIVO DE CAREO TIPO

13157

PER AUTOVEICOLI
FOR CARS

POUR AUTOS

FUR KRAFTAHRZEUGE
PARA AUTOVEHICULO

FIAT DOBLO
OPEL COMBO

TYPE 263, COMBO-D 2010 =>
CLASSE E TIPO DI ATTACCO OMOLOGAZIONE CARICO VERTICALE MAX
CLASS AND HITCH TYPE HOMOLOGATION S VALUE
CLASSE ET TYPE DE CROCHET HOMOLOGATION MASSE VERTICALE MAXIMUM
KLASSE UND BEFESTIGUNGSART | ZULASSUNG ZUL. STUETZLAST
CLASES DE ACOPLAMIENTO APROBACION CARGA MAX. VERTICAL
e3 00 - 7575
F = k
(DIR. 94/20/CE) S = kg 90
VALORE D
D VALUE [LEH J. kg bdax J. Kag
VALEUR D I% ;:I g
D WERT - X

VALOR D

D

b ax l kg

lKg

x000981 £ 9,7 kKIN

=0+

COPPIA DI SERRAGGIO PER VITI (8.8):
TORQUE SETTINGS FOR NUTS AND BOLTS (8.8):

COUPLE DE SERRAGE POUR VIS (8.8): m;_lgg\‘ﬁ"m m;_zgs'\'“"m
SCHRAUBENANZUGSMOMENT (8.8): M14 = 335 Nm M15 = 200 Nm
MOM. DE PRESION PARA TORNILLOS Y TUERCAS
(8.8):
13157
- FIAT DOBLé v. 1.0 01/01/2011 LR"MBRARIMORCHI P.1 / 7
OPEL COMBO -



http://www.umbrarimorchi.it/
mailto:umbrarimorchi@umbrarimorchi.it

SAFETY INSTRUCTIONS

¢ Make sure that the towbar is suitable for the vehicle before starting the
installation.

¢ For safety, all work involving towbar installation (incl. electrical components) must
be undertaken by skilled technicians.

¢ Damaged components must be replaced with manufacturer’s spares and fitted by
qualified staff.

¢ It is forbidden to make any modification or structural repair to towing assembly.

USE AND MAINTENANCE

¢ The towball must be kept clean and lubrificated. For added safety, his diameter
(50 mm) must be checked at regular intervals. If the towball measures less than
49 mm after selected readings across the diameter, the towball must be replaced
with a new one.

¢ After 1000 km of towing, check torque settings for nuts and bolts, in accordance
with the table.

¢ Umbra Rimorchi cannot be held responsible for any defects in the product caused
by fault or by any injudicious use whatever of the user or a person he is liable for.

CAUTION

The tow bar installer must fix at the same level with the ball in a clear position, a plate
with the ball's maximum load for the vehicle on which the tow bar is fitted.

13157

- FIAT DOBLO v. 1.0 | 01/01/2011 L/ umera@imorchi P.2/7
OPEL COMBO -




FITTING INSTRUCTIONS
13157

Remove below the vehicle any mastic from contact points between the chassis and the
tow bar; then paint mastic free pieces with rust inhibitor.

-

Remove the rear lights and the bumper;

Remove and eliminate the central bracket for the bumper fixing and then
eliminate the reinforcement bar;

Remove the plastic covers that protect the anchoring points placed on the chassis-
rails;

Insert the tie rods “A” inside of the chassis-rails referring to the holes “01” and
“02”, insert the screws and fix them interposing the large washers in position
017

Place the cross bar “"B” between the two tie rods according to the version you are
installing the tow bar on, (Dobld normal or Dobld natural Power), referring to the
holes "03” and “04”, insert the screws and fix;

Tighten all bolts and nuts as shown in the enclosed layout;

Connect the wiring to the socket, following the car booklet's instructions “use and
maintenance” as shown in the enclosed wiring kit layout;

Only for Doblo Natural Power: invert the spacer of the socketholder as shown
in the enclosed layout;

Make a cut on the bumper as shown in the enclosed layout;

Back together the bumper and the rear lights.

INVISIBLE AND SWIVELING SOCKETHOLDER

13157

- FIAT DOBLO v. 1.0 | 01/01/2011 L/ umera@imorchi P.3/7
OPEL COMBO -




13157 /F

2x

2 | M12x85 (8.8)

M10x30

@ 10x22x1,5

a 10x40x2

2x 12.2x27x2.5

6x

2x M12 (8.8)

M10
ORIGINAL

2x SPESSORI
SPACERS

Oe|e|e

2x

2%

O
U.R. SF12/s
e3 00-7672

&olc-

M12x30

Q r1zaem

@ M12

2x

M12x30

@ 12x27x2

M12

oD | oD | D | (R (oD

(F60A)

13157/C

2x M12x25 (8.8)

12.2x27x2.5

1x | M12x85 (8.8)

Bl ®|e|o

1x M12 (8.8)

1
)
H

@Q
e

U.R. SFBLC/D
03 00-7137

(60 AY)

13157 /VM

2x M12x30 (8.8)

®
@ |2« | Mi2x25 (8.8)
6]

4x 12.2x27x2.5

e

m @ DOBLO' Natural Power

\.
=

164"

ACS 3003
e4 00=2164
e4 00-2608
e4 00-2932

13157/C - 13157/F

ACS 6003
e4 00=3942

TERWA 30664
ed 00—3919

sﬂﬂmw

13157/VM

190%

09

05

13157

DOBLO'
Natural Power

)

)8

P.4/7

LRIIMBRARlMORcm

REV.00

i
~—
o
~
=
o
=
o
=
i
>
o
a0
NG S
Ao
MmO
— < 1
iy
1 O




TAGLIO PARAURTI

BUMPER'S CUT
DECOUPE PARE-CHOCS
AUSSCHNITT STOBSTANGE

PA3PE3 BAMIIEPA

PO3PI3 BAMIIEPY
Mazzeria stoveicolo 20t0
1 e o v:ni;:::vi-w
Miuellinic des Fahrzeugs Um"“"?'
CpeEER TPRECEOPTNONO CPARCTSR Beg camsy
Cepemus rpeucuopriceo scoly Barmay suwsy

N
fﬁ?

[ %
265 &'L—Lﬁ 265 liil

solo per DOBLO' Natural Power

for DOBLO' Natural Power only
seulement pour DOBLO' Natural Power

Nur fiir DOBLO' Natural Power
TOJIBKO U1 DOBLO' Natural Power
TUIBKH U1 DOBLO' Natural Power

13157/C Vista dasom
13157 /VM i Bt view
Memia s ‘% Unteracsicks
Médiane Barmx
Cepegma tpamcuoprsoro sacoly _— | /
/
e | 1 ®
& =
21035
13157 /F Vo View desoto
BER cERYy
Ligne Médisne
itellinio S é_ \ 1 Brrmax sy
Cpegmma TpamcuopTROIO CpepETRE 7 L
//
® — ®
o
210 ‘ '_l
13157
- FIAT DOBLO v. 1.0 | 01/01/2011 L/ umera@imorchi P.5/7
OPEL COMBO -




MECCANISMO MOD. € 2007

LN

LIMERA L IMORCHI

tel. +39 075 5280260

fax +39 Q75 5287033
www.umbrarimorchi.it
umbrarimorchi@umbrarimorchi.it

P.6/7

NL - Montage S - Montering I - Montaggio NL - Demontage S - Demontering I - Smontaggio
GB - Mounting DK - Tilkobling GB - Disounting DK - Frakobling

D - Montage FIN - Asennus D - Demontage FIN - lrrotta

F - Montage E - Montaje F - Démontage E - Desmontaje

AN a..q.,_ Jﬂ_ -
,.,.j_ \ ,_cﬁ,m&

LRUMBRARIMORCHI

—
—
o
N
=
o
=
o
Q
—

>
o
a0

~o S

uiffa¥e!

MmO

1ML
iy

1 O




TE

i

min.

Figiraum

It
| i 1L<.I'__

'3 . . &8 e 250

g H .

§ -
1" |
1

i
@

Vertkakbsne durch dis

EnCpunkie der Gesamilings

daa Fahrpauges

o 15

—

e 10K o {

350 - 4207

Bodlan

Fr il asiy

Werlikalkebene durch die
Ersdpunkts dar Gesarildngs
e F b 20 36in

Der Freiraum nach Anhang 7, Abbildung 25a und 25b der
Richtlinie ECE-R 55 ist zu gewahreisten.

Yolny prostor ve smyslu Prilohy V11, obr. 25a a 25b smémice
ECE-R 55 musi byt zaruéen.

Det skal sikres, at der er spillerum i overensstemmelse med bilag
7, fig. 25a og 25b i henhold til direktiv ECE-R 55.

Hay que garantizar el espacio libre conforme al anexo 7, fig. 25a
y 25b de la directiva ECE-R 55.

La zone de dégagement, selon 'annexe 7, figure 253 et 26b de la
directive ECE-R 55, doit étre assurée.

Walyksen tulee t3ytta3 ohjeen ECE-R 55 liitteen 7 kuvissa 25a ja
28b ilmoitetut vaatimukset.

Make sure to provide clearance according to appendix 7, figures
25a and 25h of the ECE-R 55 regulations.

Mpéme va eEoopahiferal o tAEUSEDOC ¥UIPOC TUMPVT JE TO
TapdpTnua 7, aynpa 25a kal 250 e kovoTiknc obnyioc ECE-R
55

Biztositani kell az ECE-R 55 iranyelv szerinti, 7. szami flggelék,
25a. és 25b abrakban jeI6lt szabad teret.

Deve essers garantito lo spazio libero secondo l'allegato VI,
figure 25a e 25b della normativa europea ECE 55 R-01.

Det ma serges for fritt rom i samsvar med tillegg 7, figur 25a og
25h i direktiv ECE-R 55.

De vrije nuimte volgens supplement 7, afbeelding 25a en 25b van
richtlijn ECE-R 55 moet gewaarborgd zijn.

Malefy zapewnit wolng przestrzen zgodnie z zatacznikiem 7, rys.
25a i 25b, dyrekbywy ECE-R 55.

OCTaBNATE CcE000AHOE NPOCTRAHCTED COMMAcHO MDUNOMEHMKD T,
puc. 25a 1 258b OupekTtew ECE-R 55.

Sqelrummet enligt bilaga 7, bild 25a och 25b i rkilinje ECE-R 55,
maste garanteras.

* bei zulassigem Gesamtgewicht des Fahrzeuges
* pii celkové pripustng hmotnosti vozidla

*wed filladt totalveegt for keretejet

* con peso total autorizado del vehiculo

* pour poids total en charge autorisé du véhicule

* Ajoneuvon suurimmalla sallitulla kokonaispainolla
* at gross vehicle weight rating

* w0 TO ETMTRETITO YIKTG BApoC ToU OxAUaToC

* A jamid megengedett dsszsilya esetén

* per il peso complessive ammesso del veicolo

* ved kjaretayets fillatte totalvekt

* hij toegestaan totaal gewicht van het voeriuig

* przy dopuszczalnym ciezarze catkowitym pojazdu
* Npy Qomyc THMOM o0LWeM Bece aaToMOOUNA

* vid fordonets tilldtna totalvikt

13157
- FIAT DOBLO
OPEL COMBO -

01/01/2011 L/ umsra@MorcH P.7/7




	TYPE
	263, COMBO-D
	F


